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EtT = 1
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I TR EREE) m3 70 74
i =+ m3 310 310
FR1E ) m3 460 457
BR 8. A+ m3 240 241
SRR L FALHELUBAL m3 ,100 4,118
BEREL BAL m3 ,500 1,536
BEEL BEAT m3 80 83
7% LB E =+ m3 310 310
RSB EETESSE YRIBET m3 3,750 3,750
B2 =2 m3 3,800 3,750
2t 7 AT m3 2,800 2,833
BEL = 1.0
BARET m2 , 080 1,082
BT m2 ,080 1,082
HKHEY T = 1
HkT =% 1
HETAEG) | 3000 EEET QEWET QAL | " 37 36.5
U=i% (2) U300B m 99 98.7
BFRFAREEE 300A T-25 m 7 7.0
B BB (1) B300-H400 m 6 6.0
BHROERAE (2) B300-H500 m 2 2.0
BHEI() L% ¢ 200 m 42 42.0
BEETQ) L% ¢ 300 m 3 2.8
EET() L% ¢ 400 m 7 6.6
BET () L ¢ 450 m 30 30.0
BET(9) B ¢ 600 m 33 32.5
wEIM) IO SEEER IOy [HEgR) | M 16 16.0
HEIL @) IFOUMSEEERTIOys [RARRS] | M 6 6.0
HEI(G) IJOUMHSEESRTOYS (BwERm) | M 1 1.0
SKk#HT = 1
ok (B) $&#%7v6-12000 x 2000 3 1 1
£ K 4 (©) (&0 1 1
£ K 4 D) (&0 1 1
£ K b (3) &R 1 1
ok (F) [E=l30 1 1
ok (6) [E=l30 1 1
ok (H) [E=l30 2 2
ok €)) [E=130 2 2
ok @) [E=l50 1 1
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BEEI(Q2) = 1
Ry ZANs— k| HI100xB1100 [4Z:) T-256 m 56.0
Ry ZALs5— k| H1100xB1100 [£14INo136] T-25/ | M 1.6
Ry o ZALs5— k| H1100xB1100 [£14INo137] T-25/ | M 1.0
Ry o ZALs5— k| H1100xB1100 [£14INo166] T-25/ | M 1.0
PEEET % 1
JOoy I (3)-2 #* 1 L=22. 2m
JaY KT 1:0.4 ZE=>10cm m2 43 42.7
EAH| BEYIS YL v—5 > RC-40 m3 10 9.9
XL 28 18-8-25BB m 22 22.2
ERT 18 18-8-40BB m 22 22.2
IJAYIEITM =% 1 L=69. 5m
JayIHI 1:0.4 %2 >10cm m2 113 113.4
RAHM| BEHIS YL v—5 Y RC-40 m3 23 23.4
XL 28 18-8-25BB m 70 69.5
ERT 1R 18-8-40BB m 70 69.5
MNRE NG = 1 L=32. 9m
avyy—+k 18-8-40BB m3 12 12.0
FhE&EM T #* 1
FhE&EM T % 1
Wi T Gr-C-4E m 132 131.5
HET = 1
HET = 1
RET (HiB) BATHEF R (13) t=bem | M2 1,180 1,180
RETL (HiB) BATHET R (13) t=bem | M2 1,420 1,418
RELMKLE)| mamumErzras (13) t=bem | M2 155 155
EET BAEMET X3 (20) t=5em | M2 2,210 2,207
LRERET HIERBRA N-30 t=15cm m2 1,780 1,784
TRERET BAEYIARE RC-40 t=150m m2 1,590 1,588
RET BAZHEF A3 (13) t=3em | M2 577 577
BT BAEYIARE RC-40 t=10cm m2 173 173
®ET 09~ bk (18-8-25BB) t=10cm | M3 31 31
TREZIET BRER m2 219 219
TAHA—JI BAMBMETR2>(13) m 54 54
BREHET BAEYIARE RC-40 t=10cm m2 28 28
RE#HT =% 1
XE#HRT =% 1
B R ER BEE  W=150m m 818 817.5
BRARER B W=15cm m 67 67.0
AR R ER BEE  W=450m m 43 43.1
BRARER | mEg k- 28 - xP)W=15enpg| 0 113 113.2
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sggavH)—+I #* 1

‘ALY Y—+I 18-8-25BB  t=10cm m2 10 4
REET =% 1
RE&HEKT N 1

REHKLDSERE 62 x 48cm__ it{EMET D 5 = 120 120
REEEREET % 1

IR B R E SERHFER (550 x 150084t %) | K 2 2
HET #* 1
BEMREL N 1

REMERET BEaL o y—k m’ 14 14.4

|HEaAHY—k m* 4 3.6

ERZERREN % L FRI 7L % t=15eml T ni 1,110 1110.0

AR IR FRI 7L % t=15eml T m 11 11.2

BERINET FRI7Ik m 44 44.4

$EEa o U—k m* 14 14.4

|EHEaAHY—F m* 4 3.6

BiRELST me 0.02 0.02
HKEEMRBEL PN 1

VWEHE - T VUEHE 6200 m 10 10.0

BEREENZANEE EISH t 0.1 0.1
XERKFEKBET = 1

KA HIRHRAR ERELEE i 540 540.0

X EAREREARE R % 1 1

& & Y 30cmk i N 66 66
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T ERZFERLS t 14 13.5
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% M M & Bl & =B
i = 1
A TR (L 5%) m3 74
R =t m3 310
RAR T8 m3 457
1R TR, RAL m3 241
BR{ARE L RALHBLUVEBAL m3 118
BRPREE L BAL m3 536
BREEL BAL m3 83
5% 1+ B I &t m3 310
TRE R HELRIS L YEREET m3 , 750
fRiA =X m3 , 750
Bt BAL m3 , 833
BRET = 1
BEIAET m2 , 082
BFHAT m2 , 082
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% 71 § =1 = # =2 BN
T
ERIEHEEN &Y
£ Al 74.3 = 74.3 74 m3
£ Hl(EL) 310.0 = 310.0 310 m3
73 b 456. 7 = 456.7 457  m3
18 = 240.5 = 240.5 241 m3
(FRAL)
ERISHEZEQ &Y
BRIAE L 4118.4 = 4,118.4 4118 m3
RATRUEAL)
BT 1535.9 = 1,535.9 1536 m3
(BEAL)
BE®t 83.2 = 83.2 83 m3
(BBAL)
5% L EfRALE 310.0 = 310.0 310 m3
(®1)
T REE EELHEUG L YBRIBET
EiftE(LtE) =RELE (L—X)/1.2
4500/1.2 = 3,750.0 3750 m3
EA UL—X) ThER=E LY = 3,750.0 3750 m3
Bt# BALEKRLTE (Z< L8 =ltEx1.2
BAL =((BXRUVERLE)/0.9-((EELHIGELE + Al + KIE)) x1.2
((4118. 4+1535. 9+83. 2+240. 5) /0. 9- (3750+74. 3+456.7)) x1.2 = 2,833.5 2833  m3
BEREL~FERT HEAL
(4118. 4+1535. 9+83. 2+240. 5) /0. 9-(3750+74. 3+456. 7) = 2,361.2
pr T
ERISHEEQ) &Y
Bt hmER 508. 5+573. 1 = 1,081.6 1082 m2
EFEfn 508. 5+573. 1 = 1,081.6 1082 m2
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FEXAE O 3#E300A m 36.5 flﬂﬁ%fg (2)
U=i# 2) U3008 m 98.7
BF S RURE 2 300A T-25 m 1.0
B B S AR {RIE (1) B300-H400 m 6.0
B ER WALl (2) B300-H500 m 2.0
BET (1) £ 148 ¢ 200 m 42.0
BETIQ £ 4% ¢ 300 m 2.8
EEI () &1 ¢ 400 m 6.6
EEI®) £ 1% ¢ 450 m 30.0
EEI ) &% ¢ 600 m 329
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R 9 ZF)Ls8— KH1100 xB1100 [#14INo137] T-25FH m 1.0
R 9 ZH)Ls8— KH1100 xB1100 [#14INo166] T-25F m 1.0
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B A EAEIE ()
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& 200  [No. +  6.6|No. 7 £l m 33.0
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&EET(7)
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A & x|
% e S =R i = & =
B z= =
&kt
(B)
FERIU-I No. + 15.5 4| @ 1.0
2000 x 2000
(O]
No. x| & 1.0
(D)
No. + 10.5 x| #& 1.0
(BE)
No. + 1.8 x| @& 1.0
(D]
No. + 13.9 x| & 1.0
(G)
No. £ | & 1.0
(H)
No. + 6.6 x| & 1.0
(H)
No. + 12,3 x| & 1.0
(n
No. + 15.6 x| @& 1.0
(n
No. + 3.4 2| @& 1.0
W) b3
No. + 113 x| & 1.0 11.0
WET (2)
RSP ACE
H1100 x B1100
(iZ#) No. + 17.5|No. + 119 m 56.0  |No138~165
[£35INo136]  |No. + 146 m 1.6
[£35INo137]  |No. + 12,9 m 1.0
[£35INo166]  |No. + 115 m 1.0
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avyy—+rJnv s BT =X 1
Ay IRI(3)-2 = 1 L=22. 2m
JOovy oL 1:0.4 ZXE2>10cm m2 42.7
FAtf BAYVZ5viv—7F > RC-40 m3 9.9
KigLT 2% 18-8-25BB m 22.2
HEET 13 18-8-40BB m 22.2
JOovy o #EIG = 1 L=69. bm
JOov oL 1:0.4 ZE3>10cm m2 113.4
FAtt BAYZ5viv—7F > RC-40 m3 23.4
KigLT 2% 18-8-25BB m 69.5
HpET 138 18-8-40BB m 69.5
N E R T = 1
N EE R =K 1 L=32. 9m
avy)—+k 18-8-40BB m3 12.0
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W B W ®
Al x|
% | g | @
B P
JOoysBI3)-2[No. 4 + 20|No. 5 5.0l £ | m 92,9
JoysBI@) [No. 5 + 1.0/No. 8 100 £ | m 69.5
INE AR [No. 6 No. 7 120l £ | m 32.9
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avoy—+r7JRvoiEQR-2 i & 1LY
% W it = = % B |Em
Jovyyig 1:0.4 =32 t=10cm
(¥ z.350m) L= 9. 60+7. 55+5. 00 = 22.15 22.2 m
A= 1/2x (0. 46+1.84) x5.00 = 5.75
A2=1/2x (1.84+2.20) x7.55 = 15.25
A3=1/2x (2.20+2.33) x9.60 21.74
A = 42.75 42.17 m2
FiAav9Y-b
(18-8-25BB) V= 42.7x0.10 = 4.27 4.3 m3
EABA V1= 1/2 x (0. 00+0. 40) x5.00 = 1.00
(RC-40) V2= 1/2 % (0. 40+0. 53) x 7. 55 = 3.51
V3= 1/2 % (0. 53+0. 59) x9. 60 = 5.38
A = 9.89 9.9 m3
B th#t
(T5354+t=10) A= (2.33+2.20+1.84) x0.45 = 2.87 2.9 m2
XigT 2% L=22.15 = 22.15 22.2 m
(18-8-25BB)
HE#T 18 L=22.15 = 22.15 22.2 m
(18-8-40BB)
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avoy—rJavoEWG) i OB Z 1By
% b Hi =1 = # B |BfE
Jovyyig 1:0.4 =3 >t=10cm
(¥ z.350m) L= 4.0+14. 2+8. 5+3. 7+1. 28+2. 92+4. 34+0. 56+13. 0+7. 0+5. 0+5. 0 = 69. 50 69.5 m
A1=1/2x (0. 46+1. 22) x5.00 = 4.20
A2=1/2x (1.22+1.29) x5.00 = 6.28
A3=1/2x (1.29+1.59) x7.00 = 10. 08
Ad=1/2x (1.59+1.62) x13.00 = 20. 87
A5=1/2x (1.62+1.89) x7.82 = 13.72
A6=1/2 % (2. 26+2. 26) x2.00 = 4.52
A7=1/2 x (3. 05+3. 05) x 2.98 = 9.09
A8=1/2x (2. 60+1.98) x8.50 = 19. 47
A9=1/2x (1.98+1.12) x14.20 = 22.01
A10=1/2x (1.12+0. 46) x4.00 = 3.16
A = 113.39 113.4 m2
ZiAvhY-+
(18-8-25BB) V= 113.4x%0.10 = 11. 34 11.3 m3
EARA V1= 1/2x (0. 00+0. 17) x5.00 = 0.43
(RC-40) V2= 1/2x (0. 17+0. 20) x5.00 = 0.93
V3= 1/2 % (0. 20+0. 33) x7.00 = 1.86
V4= 1/2 x (0. 33+0. 31) x 13.00 = 4.16
V5= 1/2x (0. 31+0.41) x7.82 = 2.82
V6= 1/2 x (0. 56+0. 56) x 2. 00 = 1.12
V7=1/2x (0.92+0.92) x2.98 = 2.74
V8= 1/2x (0. 71+0. 45) x 8. 50 = 4.93
V9= 1/2 x (0. 45+0. 14) x14.20 = 4.19
V10=1/2 x (0. 14+0. 00) x 4. 00 = 0.28
A = 23.44 23.4 m3
B #th#f
(T5254+=10) A= (1.29+1.59+1.62+1. 89+2. 26+2. 26+2. 60+1.98+1.12) x0.45 = 1. 47 1.5 m2
XigT 2% L= 69.50 = 69. 50 69.5 m
(18-8-25BB)
HE#T 18 L= 69. 50 = 69. 50 69.5 m
(18-8-40BB)
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INIE AR S B O£ 1%ty
% b1 i =1 = B 2 B
avyi)—+hk
(18-8-40BB) | L= 13.619+6.381+12. 938 = 32.9 32.9 m
V=1/2x (0. 26+0.50) x 13. 619 = 5.2
V= 1/2x (0. 50+0. 35) x 6. 381 = 2.7
V=1/2x (0. 35+0. 29) x 12. 938 = 4.1
A = 12.0 12.0 m3
[ &4
A1=1/2x (0.76+1.17) x 13. 619 = 13.1
A1=1/2x (1.17+0. 93) x 6. 381 = 6.7
Al=1/2x (0. 93+0. 82) x 12. 938 = 1.3
TAl = 31.1
A2=1/2 x (0. 65+1.00) x 13. 619 = 1.2
A2=1/2 x (1.00+0. 80) x 6. 381 = 5.7
A2=1/2 x (0. 80+0. 70) x 12. 938 = 9.7
TA2 = 26. 6
AT+A2 = 57.7 57.7 m?2
B th#f
(I3254M=10) | A= 0.45+0.35+0. 29 = 1.09 1.1 m?2
HE@Eao9)-+ A3x0.1
(18-8-25BB) | A=29.2x0.1 = 2.9 2.9 m?2
E LB Lx0.1x2
A=32.9%0.1x2 = 6.6 6.6 m2
HEEIE
A3= 1/2x (0. 79+1.00) x 13. 619 = 12.2
A3= 1/2 x (1.00+0. 88) x 6. 381 = 6.0
A3= 1/2 x (0. 88+0. 82) x 12. 938 = 1.0
TA3 = 29.2 29.2 m?2
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y 8 H O
3 &= x| .
%2 W e e 2 |
= = -
FhE&Ei T No. + 19.2|No. 6 + 11.8| & m 55.0
Gr-C-4E
No. No. 6 + 17.9] k& m 19.0
No. + 17.5|No. 6 + 13.81 & m 51.5
=1 m 131.5
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HEINE E R
# 5 A 1% B Al # 2 | &
HET =X 1
KEI(HE)| BEFMET7RXa2(13) t=bcm m2 , 180 D-1
REI (HE) BAEZERNET7 X2 (13) t=bcm m2 , 418 -2
KEI (MKLE)| BEFHRETZRX32(13) t=bcm m2 155 @
EET| BAEMERNET7RXI2(20) t=5cm m2 , 207 ®
LTERET FIEESAEERA M-30 t=15cm m2 784 @
TRERET B4EYLARA RC-40 t=15cm m2 , 588 ®
RETL BEFRMET7 X2 (13) t=3cm m2 571 ®
PRAET BAEYHARA RC-40 t=10cm m2 173 @
eI h1)- MeEE (18-8-25BB) t=10cm | m3 31
TEEET BRER m2 219
FAA—TI BAEMAET7 R (13) m 54
R THET BEYUILARHR RC-40 t=10cm m2 28
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GBEI i B B
£ 1 & - = B E (B ®E
HrmxE
HEHETO)
xKETI (HE) () NO.12+12.9~N0. 17
(BEBHET X 9.00x87.1 = 783.9
> (13) CADIZ& % (&) NO.134Fik = 19.0
t=bcm CADIZ&k % (&) NO.15+10.0~NO. 17+2. 0fF3& = 164.0
CADIZ&k % (f) NO.15+3.0~N0. 16+17. 0fF3i& = 213.0
g5t = 1179.9 | m -1
HEET
(BHEREET R HEHET() REI AF&Y
a2 (20)) g5t = 1179.9 | m ©)
t=bcm
HEHET ()
HET (#1) NO. 17~NO. 19+9. 1
(BAERBET X 9.00x49.1 = 441.9
a3 (20)) (eh) NO.19+9. 1~NO. 21+4. 1
t=bcm 1/2x (9. 00+8.00) x 35.0 = 297.5
(#1) NO.21+4.1~N0. 23
8.00x35.9 = 287.2
ait = 1026.6 | m ®
HEEFHET (1)
=RET CADIZ& % (&) NO.13+3.0~NO0. 13+5. 0fF3a = 5.0
(BEBHET R (Z) NO. 13+5. 4~N0. 15+7. 65
a2 (13) 2.78x42.25 = 117.5
t=3cm CADIZ& % (&) NO.15+10. 0~NO. 164 = 58.0
CADIZ&k% (&) NO.16+12.0~NO. 17+3. 5fF3x = 80.0
ERINGT = 260.5 | m
(#/) NO.12+12.90~NO0. 15+0. 53
2.78x47.63 = 132.4
CADIZ& % () NO.15+1.85~NO0. 15+13. 0fik = 65.0
CADIZ&k% (&) NO.16+4.5~N0. 16+174F3K 72.0
BRINET = 269.4 | m
At
260. 5+269. 4 = 520.9 | m ®
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ok

fiZ< L

iow

2 1 Hi = B E (B " E
XEEHE (1)
REL CADIZ&% (%) NO.13~NO. 14+7. 3{tif (FTEHRIBHKED)

(av))-Me%R) =11 183.0 [ m
18-8-25BB t=10cm = 18.3 | m3
FRER
BHEMHETI Q) CADIZ&k % (#) NO.0+9.0~NO. 14t = 110.0

=ET (Z) NO.1~N0.2
(BEBMET 2 4.50%x20.0 = 90.0
a>(13) CADIZ&k % (d) NO.3+16.0~NO. 144F3k = 28.4
t=bcm (Z) NO.4~NO0. 11
4.75x44.24 = 210. 1
1/2x (4.75+4.32) x 8. 66 = 39.3
1/2x (4.32+3.25) x21.34 = 80.8
3.25x66. 86 = 217.3
(&) NO. 1~NO. 2
4.75%20.0 = 95.0
(#&) NO.4~NO. 11
4.75x44.24 = 210. 1
1/2x (4.75+4.32) x 8. 66 = 39.3
1/2x (4.32+3.25) x21.34 = 80.8
3.25x66. 86 = 217.3
A5t = _ 14184 | ni | D2
ERERET
(FERRR|) NO. 1~NO. 2 NO.4~N0. 13+3.0
M-30 t=15cm |BEEHET Q) RBI AFt&Y
‘it = 1418.4 | m @
TRRET
(BAEYIHARE) | NO. 1~NO.2 NO.4~N0.13+3.0
RC-40 t=15cm |EHEHET Q) REI HitLY
‘it = 1418.4 | m ®
NEEET EBERIEHFEED &V
a8t = 218.7 | m
FAHh—T T
BAMBET 2 3 NO. 3+19. 2~N0. 6+11. 8
> (13) ‘it = 54.0 | m
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WET ¥ OB
& b B -1 =® = (B fF &
HRE
BREHET
CADIZ& 3 (&) NO.3+16.0~NO. 4 1.8
RETI (MK0IE)| (£) NO.4~NO.13+3.0
(EaE 7 = |0-50% 106.4 53.2
a2(13)) 1/2x (0.50+0. 54) x14.7 7.6
t=5cm 0.54x%x20.0 10.8
CADIZ& 3% (£) NO.3+16.0~N0.4 1.2
(#7) NO.1~No0.2
0.50x20.0 10.0
(/) NO.4~NO0.13+3.0
0.50x121.1 60. 6
1/2 x (0. 50+0. 45) x20.0 9.
&t 154.7 | m ®
BT
(RIFARR) NO. 1~NO. 2 NO. 4~NO. 13+3.0
M-30 t=15cm |BEHET =REI HiHtLY
&t 154.7 | m @
SEHET (2)
xKET (%) NO.1~N0.2
(BamuEy 2 |CADISES () NO. 1A 4.7
a2 (13)) 2.30%x18.2 41.9
t=3cm
&&t 46.6 | m ®
BT
(BXEYIIARAR) | NO. 1~NO.2 NO.4~N0.13+3.0
RC-40 t=10cm |HE#HET (2) EREI HFH &LV
&&t 46.6 | m @
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WET B B B
% b H) = = 2 (Bl F &
REHHE(2)
RET CADIZ& % (&) NO.4+11.8~N0. 6+17. 643
(AvhY-pEREE) &5 = 126.0 | m
18-8-25BB t=10cm = 12.6 | m3
BEET
(BEYHARRTA) | NO. 1~NO. 2 NO.4~NO0.13+3.0
RC-40 t=10cm |ZEHLE(2) HREI HF&LY
&5t = 126.0 | m @
RSHET
BatE (Z) NO.8+17.0~N0.9+2.0
(BAmR) LxB
RC-40 t=10cm |5.5%5.0 = 21.5 m
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WET F B

& G S« B OB |BM| W E
(% )
FEI(EH) |(WEO-185HE&Y BHASH
(BEBHET R LY
a>(13)) 1179.9 = 1179.9 | i
t=5¢cm
FEI(EH) |WEO28H&Y BRK
(BLEFHET R LY
a>(13) 1418. 4 = 1418.4 | mi
t=5¢cm
R (FA0E) | HEQEEH & Y
(BEFHET &t
av(13) 194.7 = 1564.7 | i
t=5cm
EBT  |WEQAH&Y
(BEMHET R &t
a2 (20)) 1179. 9+1026. 6 = 2206.
t=5cm
LRBET  |WEO&H LY
(HIFARE)
M-30 t=15cm |1587.8+195.9 1783.
TRBHET |WEOAHLY
(BEYARER)
RC-40 t=15cm |1587.8 1587.
®BI  |WEOAHLY
(BEFHET &t
av(13) 929. 9+46. 6 = 576.5 | i
t=3cm
BET  |[WEQAH &Y
(BEDARE) &3t
RC-40 t=10cm |46.6+126.0 = 172.6 | i
®BI  |WEOAH&Y
@hY)-+E%R) &&t
18-8-25BB t=10cm|18. 3+12. 6 = 30.9 | m3
FEEET CE 218.7 | m
FAA—TI /it = 54.0 | m
BEMHET 232 (13)
WRISET
(BETARE)
RC-40 t=10cm R 21.5 | m
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X B & T % & & 5t %
# 5 A 1% B # =
RE#HRT = 1
AR E R HE#R W=15cm m 817.5
BaE#R  W=15cm m 67.0
BHE#R  W=45cm m 43. 1
HER (K - 85 - XF)W=15cmiE | m 113.2

2]




K = £
W 8 B &
A & E | N
% b1 - B ] % = i3] =
B z =
HERRR
(B W=15¢cm)|No. 0 +  7.3[No. 2 Rl m 32.9 |BR#&
No. 3 + 18.4|No. 13 + 3.0/ m 184.1  |BR#
No. 13 No. 15 + 29[| m 42. 6 |mawss
HIESNMEER
(B W=15¢cm)[No. 3 + 16.0|No. 13 + 30 £ | m 185.7 |BR#
No. 0 + 7.3|No. 2 + A7 ABH|[m 39.0 [BR#&
No. 3 + 18.1[No. 13 + 3.0/ &H | m 187.1  |BR#
HEERR
(BE# W=15¢cm)|No. 0 + 8.6[No. 2 |l m 3.4  |BR#K
No. 3 + 18 1|No. 5 + 81l &H | m 30,0 [BR&
No. 5 + 81|No. 6 + 131l H | m 25.0  |BR#&
TN -
No. 6 + 13.1|No. 8 + 31l &HI[ m 30,0 [BR#&
No. 13 + 12.8[No. 15 + 29 £# | m 20.7 |B#fss
= 5 m 817.5
HERRR
(B W=15¢cm) |No. 2 No. 2 + 15.9|dhga| m 5.8  |BR#&
No. 3 No. 3 + 18.4|#hk| m 4.8 |BR#H
No. 15 + 2.9[No. 16 + 1.5[chg| m 1.2 |Batss
No. 16 +  1.5[No. 16 + 19.1[ehg| m 6.6 |Br#tss
HEERR
(B W=15¢cm) |No. 2 No. 2 + 153 &£ m 5.3 |BR#&
No. 3 No. 3 + 181l A | m 4.6 |BR#
No. 5 + 81|No. 6 + 131l H | m 12.5  |BR&
No. 13 No. 13 + 128 £ | m 6.4 |Brtss
No. 15 + 2.9[No. 16 + 1.5 £# | m 1.2 |Batss
No. 16 + 1.5|No. 16 + 19.1l Z [ m 6.6 |[BH#tgs
=1 g m 67.0
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K = £
B = H =
A & E |,
% £ - | i = i3] =
B z =
IENTR T
(BE#H W=45cm)|No. 0 + 7.3 H |l m 6.4 |BR#
£I5
(B W=45cm)[No. 5 + 8.1|No. 6 + 131l &H | m 36.7  |BR#
=1 H m 43.1
EHELHTXH
( (W=15cm¥2Z) ) [No. 1 + 10.9|No. 1 + 16.0l £ [ m 9.2 |BR#&
No. 4 + 0.5|/No. 4 + 55 H ([ m 9.2 |BR#&
No. 5 + 0.5|No. 5 + 55 H | m 9.2 |BR#&
No. 6 + 7.8|No. 6 + 12.8l &5 [ m 8.0 |BHR#&
No. 13 + 16.5|No. 14 + 1.5 Z [ m 9.2 |BH#HEH
No. 14 + 16.5|No. 15 + 1.5l & m 9.2 |BH#HEH
( W=15cm¥2Z) ) [No. 1 + 10.9|No. 1 + 16.0] £ [ m 6.7 |BR#&
No. 4 + 0.5|/No. 4 + 55 H ([ m 6.7 |BR#E
No. 5 + 05|No. 5 + 55 A5 m 6.7 |BR#E
No. 6 + 7.8|No. 6 + 12.8l & [ m 5.7  |BR#&
No. 13 + 16.5|No. 14 + 1.5 Z [ m 6.7 |BHHAEH
No. 14 + 16.5|No. 15 + 1.5l & m 6.7 |BHHEH
ol s
( W=15cm#2%) ) [No. 16 + 1.5 BR| m 20.0 |B#HwsE
& H m 113.2
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Mt & T 8% = B S
£ 1 b3} % B | = | & =
BHEMI = 1
BEMKRET L P 23 N=1+22

HEBEERAGZEIOVST = 1
HEREERFEIOVST sk ® 208
HRIK ® 190

sgRaHo1)— kI = 1

18-8-25BB t=10cm m2 42 6+36
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% = =
H = FH =
S = x|
2 W G e | i
B e =
REBEER
FHIOvs [No 15 +  7.5[No. 15 + 11.3] % | #& 26
(EfkTovy)
No. 15 + 12.1|No. 15 + 18.3] # | #& 26
No. 16 + 10.3|No. 16 + 150 # | #& 26
No. 16 + 12.9|No. 16 + 16.0| # | #& 26
No. 15 + 51|No. 15 + 84| 5= | #& 26
No. 15 + 6.5|No. 15 + 11.2| 5= | % 26
No. 16 + 41|No. 16 + 103| & | & 26
No. 16 + 9.7|No. 16 + 13.7] &= | #& 26
& 5 " 208
REEEE
HFEJOvs [No 15 +  7.5[No 15 + 11.3| % | #& 22
@EH%kInovsy)
No. 15 + 12.1|No. 15 + 18.3| & | & 30
No. 16 + 10.3|No. 16 + 150 % | # 20
No. 16 + 12.9|No. 16 + 16.0| & | & 18
No. 15 + 51|No. 15 + 84| 5= | #& 20
No. 15 + 6.5|No. 15 + 11.2| 5= | #& 20
No. 16 + 4 1|No. 16 + 103| & | & 30
No. 16 + 9.7|No. 16 + 13.7] &= | #& 30
& 5 " 190
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R®THERHE

% i M & Bl &% =|#
RExBEK T = 1
RERHEKLD S ERiE 62x48cm  MHEMELD S &= 120
REXBHRFET = 1
REXBEREXE | £EKRFTER (G50 x 1500441+ &) ® 2
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W E=I % E & 6t %

% g H % B f1 |3 = |
BEYHRET =% 1
BEYMEET oo —k m 14. 4
‘B0 )—F m 3.6
SERREIEL| TR T 7L LEEE t=15cmATF m 1110.0
HERUIE| 229 )— FEE t=15emA T m 1.2
L E L ALIE T FRAI7ILk i A4 4
HHaro)—+k m’ 14. 4
| U—+b m’ 36
SRS T m’ 0.02
HoKBEYRET =% 1
VUEHZE - 09T VUERZE ¢200 m 10.0
RERRENZANGEE EITIHE t 0.1
XEREFREIRT =% 1
ZPEREEREAR EEELED n 540.0
X EAR AR RARE =% 1
228 Y 30cmk i x 66
& E Y 30cmil x 24
X EARZARL S t 13.5
X EARLARAL 5 KEL 5 t 6.3
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W = I & & & B E 1TRLY
A b1 B = = B = (B fw &
BEYHEET
BEYMEUET
HHEEY |(BREITHEABEHFEZELY
UFi&
180 = 1.1 | m3
240 = 1.5 | m3
300B = 1.0 | m3
BEET ()
HP ¢ 600 = 2.2 | m3
BEET(9)
HP ¢ 800 = 8.0 | m3
< R—ILIT() = 0.6 | m3
H 14.4 | m3
BEEY (BEIBEGHKEFEELY
skt (1) = 0.6 | m3
gkt (3) = 30| m3
&t = m3
SEiE AR AR L CADI[Z&k% Nol~No2 No4~No13+3.0
As t=15cmLLF |A =278+832 = 1110 | m2
SHERRUIET  [No0+9.0
Con t=15cmLATF [L= 11.2 = 11.2 m
EifET
POE kIR
(FRZ7ILE) [V= 1110x0.04 = 4.4 | m3
(F# Co) V=144 = 14.4 | m3
(#%#n Co) V=36 = 3.6 | m3
HiRLS T 0.023x11.2x0.04 = 0.02 | m3
HoKEEMEHET
VUEHE - Uy |EEBEEE
¢ 200 L= 10.0 = 10,0 | m
BREREVZANEE (BTF8)
E& 10.0x 6.572kg/m = 0.1 t
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BREIHEMHMERE
: &t ) = w B
A
Vo 4 + 6.6 ~ No. 6 + 8.8 f{Hk 48.6 ‘m
2L =] 48.6 im
= > L X A
= 486 x 0. 0236 = 1.1 im3
250 RETHETEMELY
A= 0.0236 m
p L
39 180 35
o
~~
~—
<)
4—,,
. § g = # =
)
i + 0.5 ~ No. 6 + 13.4 fHik 38.4 im
L =] 38.4im
2L X A
38.4 X 0.03817 = 1.5 im3

HEtHEIEELY

330 A= 0.03817 m
5 240 45

M 240
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BMEIEMH=RE
& # &t H e =
UxE
(300B) No. + 2.2 ~ No. 4 +  19.5 fiE|E 18.0 im
L =| 18.0 im
\Y 2L X A
18 x  0.05510 =| 1.0 im3
BREHEIEMELY
o0 300 50 A= 0.05510 i
o
S
™
E——
_ cof
% b1 B = = # =
BET()
(HP ¢ 600) No. + 100 ~ No. 4 + 197 fhE 14.6 im
SL =| 146 im
\Y = 2L X A
= 146 x 015298 =| 22 m
BREHEIEMELY
A= 0.15298 ni
50

¢ 600
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BREIHEMHMERE
i
R . i CH = % &
A
EET(9)
(HP ¢ 800) i No. 1 + 16.3 ~  No. 2 + 1.2 {hk 13.6 im
¥ No. 1 + 16.3 ik 3.9 im
L =| 17.5 im
\Y = > L X A
= 1.5 «x 0. 45654 = 8.0 im3
HREEIERL L
66 6800 SETETEE &Y
A= 0.45654 m
\
|
E -
£ £ . H -1 = B =
)
I hR—ILI(1) A No. 1 + 16.3 [Dpis 1.0 i&Fr
(1B8<vh—I) v= 0.8 x 7w /4 — 0.60 x 7w /4 x 0.15 =[0.026 im3
V= 0935 x 7w /4 — 0.75 x 7w /4 x 0.60 =] 0.087 im3
v= 106 x 7w /4 — 0.90 x 7w /4 x 2.00 =] 0.236 im3
v= 106 x 7w /4 x 0.30 =1 0.247 im3
Vo= 0.6 im3
|
o \ ]
o
S
3
2 o 75 ¢ 900 /5
o
&
o
o
C‘}
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BMEIEMHB=EHZE
E
R . i CH = % &
E=1
Skt i No. + 1.9 ik 1 &R
M Y3 No. + 3.3 ik 1 iR
&% 2 (R
V= 0.70 x 0.70 x 0.85 0.417 im3
V= - 040 x 040 x 070 ={-0.112 im3
v 0.305 im3
IV = 20 x 0. 305 0.6 im3
700 700
50 400 50_400_15
\ NN
o . |
88 | g8 ||
3 ‘ I !
| = 1
E -
4 b . § g = # £
b=l
&kt y:3 No. 5 LDpis 1 &R
(3) x No. 2 + 1.0 e 1 (&R
¥ No. 1 + 16.5 LDpis 1 &R
&% 3 T
V= .30 x 1.30 x 1.25 2.113 im3
v= - 100 x 1.0 x 1.10 ={-1.100 im3
v 1.013 im3
IV = 30 x 1.013 3.0 im3
1300 1300
50 1000 15 50 1000 {5
. | IR
| |
s g ||| g 8 !
T | " |
8 | = - |
|
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38 E |
2 W |l s 2 |
B A
EET (1) No. + 1.8 £l m 3.7
(VU ¢ 200)
No. + 6.4 b m 6.3
5 g m 10.0
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W = I & & & E 1REY
£ o H = = 2 (B & &
FEREREET 11
XEREFEZIB|CADIZELY
90 + 150 + 300 540.0 | m
[ERBEEET]
~ 20cmR i h = 49 | K
20~ 30cmk it = 17| K
INEt = 66 | &
30~ 60cmk it = 8| &
60~ 90cmk i £EE = 5| &
90cm~ B = 11 .
INE = 24 | &
=1 9 | X
KEREFRRRER 1 =
&8 FF Y 30cmR i = 66 | &
&Y 30cmil £ 2 | &
13.5 + 6.3 = 19.8 t
RERIERLS | 90 (K) x 0.15(t %) = 13.5 | t
TREREZELS [ 90 (K) x 0.07(t %K) = 6.3 t
(RIB5)
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